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( SWIp wHMID Ymidle eupl / Tamil & English Version)

&med 2jema] : 3.00 wewil CHIL | [ Qrgs wHubueamser : 70
Time Allowed : 3.00 Hours | [ Maximum Marks : 70

Slejemraet : (1) masg lamsseErd sflwns udeurdl o drarsm eraugmer FilLITTSEsE

Qametara|b. FasliLgleler GammullmLiber amms SemrsmewtlumeTilLLb
2 | amqwings Gghelsse|b.

(2) Beod eoeg &HmLUY abulomar LLHCL T USDHELD
33 &CHTy(HeugH@GL LTSS Couamm(Hd. UL BISGET euenFeusnd
Quendled LweT(hSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

U@3) - I/ PART - I
GOl : (i) esg alamss@rs@n elenwaldsa. 15x1=15

(ii) Gsr@ssuul(herer wrHmn el gefled WEa b ghen_w el
CambOs(hdss GO HLer eleLulemarnb Caigg er(pseyw.

Note : (i Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. crerLg) Ww&seT grensll Lerafl efleurls LigliLm@LD.
(<) wrafled yeluiwed (<) wasaflwe
(@) =2uliflert yelSludwe (/F) yeludwed
is the statistical study of human population.
(a) Anthropogeography (b) Demography
(c) Bio Geography (d) Geography

2. Gsrhssiuul(Deremeupmer o ids waser Asreansls rFFmad@Ed Sroude
(=) @ang Gzl ungisTiy YArFsmeanuTss &[HEISe
(=) Cadlw wPHOID 2 w5 eTelld AES WEHT Qgmans DO P ewTT6
p&sTIBISMmeT LI 2L SBIGET AP HEnL (LPeDLILIHSSIS6E0
(@) CQuilu emey GOHLUSMS WsTLILG
() @nhensd GLhmss GHbunGmer CHT&EsLTsEsS smeralg)
One among the given is not a solution to over-population.

(a) Treating it as a National Security issue

(b) Creating and implementing National and Worldwide Multi-Media over
population Awareness Campaigns

(c) Encouraging large family

(d) Aiming for single-child families

3. 2050 - euUeTTHS GUHLD HMID CUETIHES BT(H&ET BSFOUILDTGLD 6Temml Sewtlds i L

DOTEY
(=1) wpernCw 54% wHmID 96% (<=1) wpernCw 74% wHmID 76%
(@) wpepCGw 44% wHmID 66% (FF)  penpCGuw 64% wHmId 86%

It is predicted that by 2050 the developing world and the developed world will be
urbanized to :

(a) 54% and 96% respectively (b) 74% and 76% respectively

(c) 44% and 66% respectively (d) 64% and 86% respectively
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2011 -1b Yar(H& sards6aHUdeariig Speumeuaeupmear erg sflwimeng ?
(=) Camevrgssraien wa&seT CHmans 4% 2 WITHSS
(<) ALdvadludlen waseT Ggmens 4.1% 2 WITHSS
(@) Qaeamenemuilen &S CQgTans 5% 2 WTHSS)
() pbevuwder wEsET AFTens 5.1% 2 WTHSF
As per 2011 Census, which one of the following is correct ?

(a) Kolkata’s population rose by 4%

(b) Delhi’s population rose by 4.1%
(c) Chennai’s population rose by 5%

(d) Mumbai’s population rose by 5.1%

LgIU988881q W cueThIGET UDDHIL seupnar aunsSlusamss CamboshHiEsa|n :

(=) srpm, B, Glwu Yoo Curarpenes HFUINGEEEHmIqU cUETE S @S
2_STIETRISET G0

(<) @eueuaiiser LweL(sHw U@ WarhHb Sl &G

(@) EANUALL ojerCeu 2 dTergmed ¢ (e LwemL(idE el Lme WeirHb Gum
PlrwTgl

(F) @Qacuarmsamear QupasulliCaoCu Bar®hib 2 pusd Qslicusrd STHg

CurergemeumGLd

Pick out the statement which is untrue about renewable resources.
(a) Air, water, solar energy etc., are examples for renewable resources.

(b) The resources which can always be available for use after their usage.
(c) Available in finite quantities and cannot be obtained once they are utilized.
(d) Resources have natural regeneration and are inexhaustible.
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6. Gaunul L garenns CaMmbOsHEsa|b
(=) Qur@LlsemeT UMEIGaUSDHE MUSET g Ul igsmert LWaTLHSSTOE
ApSlPlenw LweaTU(HSFHIFe0
(=) @anBS eralledr 2 epuill L Aurml smers Cshos(H S50
(@) Coemauwnm QBSILPL euge wHmb 2 amnuill L durmlsamer $eliT&se
() mEpnHs gl bnLwWeTUTH GCarar GurmLsmers CaibolsH&s5w
Pick the odd one out.

(a) Carry use and throw shopping bags or boxes.

(b) Choose products with less packaging.
(c) Say ‘no’ to unnecessary plastic bags and other packaging.

(d) Choose products with recyclable or reusable packaging.

7. ligsossT g Hrmlieng @y Apliums penl Gumib @Lib :

(=) samIm LGS (<) umbumeL LGS

(@) wsHw FOT&EHLOD LGS (FF) geumenm LEGZ)
Viticulture or grape cultivation is a speciality of :

(a) The Sahara region (b) The Pampas region
(c) The Mediterranean region (d) The Savannah region

8. Uemeu(meuameudmeT 6rgl eueTTFH L b BT(HEHEET 2 6TerL S&Hlwg ?
(1) @ edCrellwim, Qemens, sTlohgl, Cervefl LOHNID @SFTe
(<) gavdCradwim, Qaemwuim, urdlevgme, Gegioeil wWHMID @ &smed
(@) undlevgmen, @emiens, Lrmenen, Gamoe WHMLD @SS
() <edlCrelwm, sarLm, Gyreren, Cgiwefl wHmD @) &smed

Which of the following consists of the developed countries ?

(a) Australia, Sri Lanka, Thailand, Germany and Italy

(b) Australia, Kenya, Pakistan, Germany and Italy

(c) Pakistan, Sri Lanka, France, Germany and Italy

(d) Australia, Canada, France, Germany and Italy



10.

11.

12.
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ahs BTl AHs eramanisamsulleomar Tl BHT(HEEHL 6T 666N 6V 6N 6
Camerr(heTerg) ?

(1) pogwim (<) Seorm (Q) @pdum (/) searm
Which Country has the maximum number of neighbours touching its border ?

(a) Russia (b) China (c) India (d) Canada

ety slwns QurmBSujeTerg ?
(=) @BCsm-<yMwen - HAugHwer, CurGLm, &Gre, wewtlliLyf
(=) vl M& - wparm, Gomer-Slwoi

(@) Slrmeil - swevdlmsid, sGrem, wemflliyfl

() Ser - ablbd), 2 ®g), 6L BSID

Which one is rightly matched ?

(a) Indo-Aryan - Tibetan, Bodo, Karen, Manipuri

(b) Austric - Munda, Mon-Khmer

(c) Dravidan - Sans, Karen, Manipuri

(d) Sino - Hindi, Urdu, Sans

GLONASS creLig) Brlger GNSS jenolium@Lo.

(@) guurar () @resur (§) @pSur (m) Sarr
GLONASS is the GNSS system of country.

(a) Japan (b) Russia (c) India (d) China

Epsaart_cupmieT org Ledblene QFwhanssCamer ?
(<=1) MIDAS (<) INTELSAT (@) SAMOS (rr) Corona
Which of the following is a geosynchronous satellite ?

(a) MIDAS (b) INTELSAT (c) SAMOS (d) Corona

[ Hmluys / Turn over
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13. weppit CallliLimerg Bfler srHamg udHsfNsdng).
(<=1) <m (=) sL6 (8) Blaogsy () GuBhEs_e
Rain water harvesting improves the quality of water.
(a) River (b) Sea () Under-ground (d) Ocean

14. UNFCCC eremgy :
(=) sreflene wMHOL Wsmer psSw BTl sl Lenwliler Lwewt IBTH
(=) sreflene wrHmbd Bgrer geHwu i@ @peder wrpm
(@) sreflered wIHOLD WHrer gadlw B (h &L eowliber gl L b
(F) sreblene wrHOL Wsmer p&SHw BTl sl Lawliy wrbr
The term UNFCCC is :

(a) United Nations Framework Conveyance on Climate Change

(b) United Nations Forum on Climate Change Council
(c) United Nations Forum Conveyance on Climate Change

(d) United Nations Framework Convention on Climate Change

15. Quiens erfleumy @wmuie erfluybd LTUTGTGT SamerTm CQBEHLL Srewriiuhib
B :

(1) erLoa (<2p) rryment (8) eoas (/) g

The natural gas vent known as the Eternal fire of Baba Gurgur is located in the
country.

(a) Yemen (b) Iran (c) Kuwait (d) Iraq
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U@ - II / PART - II

@Oy : ECp Qar@ssiiul(erer alarmssafler gCaeb m larmssErseE

ellen_wieflGseybd. el eranr 24 -&@ SL_LMULNS el Wetésa|Lb. 6x2=12

Note : Answer any six questions. Question number 24 is compulsory.

16.

17.

18.

19.

20.

21.

&&ET (sTensll Lieueme LITSHEEGD srranflaamens @&l hs.

Mention the factors influencing the distribution of population.

Srmoliyws Grui@mlyseiler cuamsgsameTts Liliqwied(His.

List the types of Rural settlement.

@pdurele @85 nHmed 2 HusGH Csliuybd @LBs gCHED @) Ty ars
GOILAHs.

Mention any two places of tidal energy production in India.

Sallly efleugmud eremmmed Grevmesr ?

What is intensive agriculture ?

Carimev upm Hm GHILIL euenrs.

Write a short note on Todas.

sa0lelCGwim GNSS - fmy @lliy euanys.

Write a short note on Galileo GNSS.
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22. Guewrs s@Hs Cuburh Qeo&E 15 undl HHESHOTS 6T(LPFIs.

Explain Goal 15 in sustainable development.

23. sl L dpfled ghuBL WPEEW @)L miser wreanel ?

What are the major areas of stampede ?

24. sroblene LIHDSMF TeUaIMESHETWD THTESTETTRMD e all6md@s.

Explain the ways in which the climate changes can be responded.

U@ - III / PART - III

@oly : gCgenb ym lamssErsE oL walssab. 33 -eug ofarmelna
SL_L_MULDNS ellenl eT(LpSayLb. 6x3=18

Note : Answer any six questions. Question number 33 is compulsory.

25. dlflaurgs Grtl(H&@w Hleoowrear YMrLlhsgn Qe Cuwrear gGseaib eperm
Coumiur(hsener GHULAGHS.

Mention any three differences between expansive population pyramid and

stationary population pyramid.

26. Wlealwem BSTD UMTLMGSE|D. 2 STFETLD S(H.

Define Million city. Give an example.

27. 2 adler WsLCuflu ghem @flw Wersny 2 HuSSH Hlaneowbd ermhiGs b eTeng) ?
@ndwrafer @M Wer <pmmed 2 HUSS LD 6T(LHSIs.
Where is the world’s single largest Solar Power Plant located in the world ? Write
about the Solar energy production in India.



28.

29.

30.

31.

32.

33.
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aumargnenaflen GCeuermamr Camlum’igen Seanwrarmiseie gCHaiD ey el ener

oT(LDSIS.

Write any three assumptions of Vonthunen’s agriculture model.

Tl wHmID crevanesGamhiger @enLGul o drer GCoumuml enL & Famis.

Distinguish between Frontier and Boundary.

Hall Blenew QFwpenssGamer womib GMw Hlane QFunamasCamaner CoumiLi(hés)s.

Differentiate Geostationary satellite and Sun-synchronous satellite.

e CHlllbdnasrear gCsad pPETN STTETHEISEDETS Fnm)d.

Write any three reasons for rain-water harvesting.

Qzmped QL smens GmnEEGD auflipamsaie gGaaib @ ramqemaersd &MLk (Hs.

Mention any two means of reducing industrial hazards.

Qg mpemerisefen <jqliLmLuild Csmfiharesmen alamsLiL(hss)s.

Classify industries based on Labour.
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SN : Sjemensg laTssErs@h el wallésea,.

U@3l - IV / PART - IV

Note : Answer all the questions.

34. (=) 8Cp Qar@ssliul_(Herar 55 w&sar Ggrasuienmd gHUBID GrFsmersar

35.

36.

elGeuraenmll LHMILD @rem(H eursHluniseted 6r(Lpgis.
(i) Qupens auathiser STHHGCLTSEM
(i) eumPi @ipli] Sy
(iii) <Slafsgleimb sroblane WML LHMID 2 @& CleulILLWLDTSE
S|6060F)
(<) Slymotiym GGy eresauny paiyné Gquimudalmbbg Coupu®éng ?

(a) Write, in two sentences, each about how the following are the problems of
over population.

(i) Depletion of natural resources

(ii)) Accelerated loss of habitat

(iii) Amplified Climate Change and Global warming
OR

(b) How is Rural settlement different from Urban settlement ?

(=) sl eueThIGMmeT LITEISTSGD Ul (pepmEamer UL igwadlhs.
S|6V6VG
(<) Qeuufler Agmflews sewael Carlur’ e o flu LLSHIL 6T edleTdHdEs.

(a) List out the methods of conservation of mineral resources.
OR
(b) Elucidate Weber’s Industrial location theory with suitable diagrams.

(=) Csmener maTamianTTelen LiweTUT(hEamer alleum&sa.
S|6VEVG)
(<) augsmed Bit GLoTeiTentn creimmmed 6TeiTenm ? HHSET (PSS WGFeuUDd LHMID (PSS
vgBlenevger LmM afleufl&sab.
(a) Explain the applications of Remote Sensing.

OR

(b) What is meant by watershed management ? Explain its importance and the
key steps.

5x5=25
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37. (=) GIS -ar Qewaurhser gCoand epermdlenars Ll allfleuns ellers@s.
S|606VF)
(<) & usdenCurg gCsaybd eperm Gl Couemriqwieney WHMID CQFUIws
FaLTHmaeU LHMl 6T(LpgIs.
(a) Describe any three functions of GIS in detail.
OR

(b) Write any three do’s and don’ts during fire accidents.

38. (=) Garhsslnl(Herer 2 & Hlo auamruLgSHled 2 s WasET FTens L THHawis
©@h58I5 sy ezl upbl fAn GHILLY e(Pgis.
S|6060F)
(<) s Umeufl HleweuamruL gl euertdslwuen_Hg wHmib et shdlu Br(h&seamer
@MSgIE SMlg. SAeupepls upbl Sy GHILY e pgis.

(a) On the outline map of the world, show the areas of world population density
and write a brief account of it.

OR

(b) On the outline map of the world mark the developed and underdeveloped
countries and write a short note of it.

-00o0-





